
GENERAL EXAM -2,  ANSWER KEY
1. c) C¬a-ss\‰v
2. a) dmWn-tkXp e£van-`mbv
3. a) ankv tIcf
4. b) I©n-t°mSv
5. b) ae-∏pdw
6. b) {io\m-cm-b-W-Kpcp
7. b) acpXw
8. d) 1741
9. a) sjm¿Æq¿
10. b) hmK-a¨
11. b) knwlw
12. a) KpP-dmØv
13. a) ]›na _wKmƒ
14. a) Xan-gv\mSv
15. a) U¬ln
16. c) km-[\/tkh-\-\n-IpXn
17. b) 1872
18. d) kqcysk≥
19. c) A_-\o-{µ-\mY SmtKm¿
20. a) ]›na _wKmƒ
21. b) C¿hn≥ {]`p
22. c) hmkp-tZhv _¬h¥v `SvsI
23. d) 389
24. c) Xpd-apJ Xnc-Iƒ
25. c) ]cp-Øn-XpWn hyh-kmbw
26. c) I-{XnI
27. a) kƒ^yq-cnIv BknUv
28. a) AÃm-‰n≥
29. a)BW-h-\n-ebw
30. d) `ua-hn-In-cWw
31. d) HIvtSm-_¿ 1
32. c) ssXtam-kn≥
33. d) izmk-tImiw
34. c) Test of my Life

35. b) i\n
36. c) AkpJw
37. a) aym≥am¿
38. b) 50
39. c)aq∂mw ]m\n-∏´v
40. a) {_n´¨
41. d) _\-ym-an≥
42. b) Iyq
43. d) Be-∏pg
44. a) Plmw-Ko¿
45. b) 1969
46. c) Xangv
47. a) ]®n-cpºv
48. c) aPn-kvt{S‰v tImSXn
49. b) knw_m_vsh
50 c) taLm-eb

51. CAT = 3+1+20 =24

BAT = 2+1+20 = 23

       Ans : b) 23

52.

      Ans : d) D

53.       512 1/3 
 + 

   8 1/3

                                         1000         1000

                  
               = 

    512 1/3 

 - 
  8 1/3

                1000      1000

         = 
     8/10 + 8/10

     8/10 - 2/10

                                   
=

   10 
x 

 10

                                         10     6

         = 10/6 = 5/3

      Ans: b) 5/3

54. Ist year ]eni = 15000 x 10/100 = 1500

IIst year ]eni =  16500 x10/100 = 1650

            Total amount = 16500+1650   = 18150

                  Ans ; a) 18150

55.      5+x+18 = 40

                  x = 40 -

                                 23

                                 17

                  Ans : c) 17

56.          d = 6cm

  Area     = a2/2

               
=

 6x6   
= 18 cm2

                     2

          Ans : C) 18 cm2

57. 1.1.2015 ˛ hym-gw, 1.1.2016 ˛ sh≈n (A[n-h¿jw)
1.1.2017 ˛ Rmb¿, 1.1.18 ˛ Xn¶ƒ
1.1.19 ˛ sNm∆, 1.1.20 ˛ _p[≥
         Ans : d) _p[≥_p[≥_p[≥_p[≥_p[≥

58.        
  4

25    =   4x36+25

         36               36

                
= 

169
 = 13/6 =

                     36

              Ans : c)

59.    60 ( a+b)    
=

60 (5+6)

     11                  11

                    = 60

              Ans : a) 6

F

B

C
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A

D

(0.512)
1/3 + (0.008)

1/3

(0.512)
1/3

 - (0.008)
1/3

3 8 = 2

3 512 = 8

3 1000 = 10

2
 1

    6

2 1

   6



60. 6 aWn-°q¿ k©mc Zqcw = 5 x 6 = 30 In.ao
12 aWn-°q¿ k©mc Zqcw = 12 x 4 = 48 In.ao
icm-icn thKX            = Zqcw  

 =
   30+48

                               kabw        18
                                         =  km/hr

           Ans :a) km/hr

61. 40x3/8 =15

     Ans : b) 15

62. (1-1/2) -1-1/3) ......... (1-1/10)

` 1/2 x 2/3 x 3/4 .......... 8/9 9/10

                                    = 1/10

               Ans : c) 1/10

63. -icn-bp-Øcw = 5+

        sX‰v = 2˛
  12 icn-bp-Øcw = 12 x 5 = 60

       60˛ 2x = 24
                  x = 18
   Ans : b) 18

64. (BODMAS)

      Ans : d)109

65. x - 1/x   = 4

x3 + 1/x3 = a3 + 3a

              = 43 + 3x4

            = 64+12 = 76

           Ans : a) 76

66.  c≠v ]Zw IqSp-tºmƒ = 0
              25˛mw ]Zw = 0+1

         Ans : a) +1

67. 3x2 = 32- (3+2)  = 4

5x4 = 52 - (5+9) = 16

7x6= 72 - (7+6)  = 36

9x8 = 92 - (9+8) = 64

              Ans : d) 64

68.         B+D

  A C

        Ans :d)  A—≥A—≥A—≥A—≥A—≥

69.

            Ans :a) Thursday

70. 68 = 6+8 = 14 77=7+7 =14

86 = 8+6 = 14 78 = 7+8 # 14

            Ans : c) 78

Yesterday (Today)       tomorrow       saturday

Friday             Thursday

71. c) {]Ya ]pcp-j≥

72. a) tem]w

73. d) sshs°m¬Øpdp

74. b) A¥-y-\n-an-j-Ønse ]cm-Pbw

75. b) at\m-lcw

76. c) t{Im[w+At√m+\n-P+-[¿Ω+-£-b-Icw

77. c) {]X-yp£w

78. c) hg-°n\v ]pd-s∏-SpI

79. a) ]mZ-kcw

80. c) {Inbm-\maw

81. a) discrimination

82. a) hasn’t she ? (Auxilary verb + not +sub)

83 d) bush

84. d) To criticise some one

85. d)ornate

86. c) shoal

87. b) a summer

88. b) sinedie

89. b) The teacher advised him not to read so fast

( Reporting part t\bpw  speech part t\bpw

 _‘n-∏n-°m≥  to D]-tbm-Kn-°p-∂p.)

90. c) to (prefer +to)

91. a) little (uncountable noun s\IqsS little

92. b) of ( Repent of)

93. d) has been raining (Present perfect Continuous)

Subj +has/have+been + Verb + ing + Since/ for +

time

94. a) The (Superlatine degree bpsS apºn-embn

definite srticle ‘the’ D]-tbm-Kn-°p-∂p.

95. b) than (No sooner ......... than)

96. a) Abhor

97. b) convicted

98. a) make out (make out - to understand )

99. d) bray

100. b) The orders were issed by them (simple past

form) [ obj + was/were + V
3
 + by + subject]
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